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Mathematics - 1l for CSE Stream

Time: 3 hrs Max. Marks: 100
Note: . Answer any FIVE full questions, choosing ONE full question from each module.
2 M Marks, L: Bloom's level , C: Course outcomes.
3. VTU MHand book is permitted.

i Module = 1 M|L|C
Q.1 8y Ny 7 [ L2 | COI
a. | Evaluate ” jc‘“’"”dzdydx ;
oo o
4a 2o 7 L3 COI
b. | By changing the order of integration evaluate I I xydydx
0 xi/4a
' , 6 |L2|COl
€. | With usual notation, prove that I'(E) =Jr ol
OR s,
Q.2 _r~ Y 7 | L3 | CO1

a. | Evaluate _[ I y: \!x +y,_‘d£dy by changmg info po polar coordmatcsu

o 0 Ny

b. | Find the area bounded between the parabo]as y" = 4dax and X" =4ay by |7 | L2 | COl
double integration.

c. | Using Ma!hcmaucal loo[ write the code to fnd the volume bounded by the | 6 | L3 | COS
sphere x* + y* +2° = a’ by doublc integration. :

- Module-2 -
Q.3 | a. | Find the directional durwalwc oi'd: =xy' + yz. at'the point (2, -1, 1) inthe | 7 | L2 | CO2
direction of the vector i + 2J+ 2. &S

. = xi+yj . ) . 7 |L2|CO2

b. | Verify whether the vector F = — R both solenoidal and irrotational.

' b
c. | Prove that the cylindrical coordinate system is orthogonal. 6 | L2|CO2
OR

Q4 |a | f F=V(x’+y’+2' -3xyz) finddivF and curl F. 7 | L2 | CO2

b. | Find the angle between the normal’s to the surface x'yz = 1 at the points | 7 | L3 | CO2
(-1, 1, hyand (1, -1, -1).

¢. | Using mathematical tool write the code to find divergence and curl of the
vector F=(dxy -2")i + 2x%) - 3x2’k .

lof3 /';3.,/
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BMATS201
Modulc -3 '
Q.5 |a. | Let Wbe a subsct of V3(R) consisting of vectors of the form (a, a°, b) where | 7 | L2 | CO3
the second component is the square of the first. Is W a subspace of Vi(R).
b. [ Let P, be the vector space of real polynomial functions of degree < n. |7 |L2 | CO3
Verify that the transformation T : P; = Py defned by T(ﬂx +bx+c)=
(a+ b) x +cis linear.
¢. | Find the Kernel and range of the linear transformation T : R> = R’ defined | 6 | L2 | CO3
by T(x, y,2) = (x +, 2).
OR __
Q.6 | a. | Determine whether or not each ofthc following x; =(2,2, 1), x2=(1,3,7), | 7 | L2 | CO3
x3=(1, 2, 3) forms a basis mR -
b. | Verify Rank-nullity thcorcm for the transformation T : R° — R defined by | 7 | L2 | CO3
T(x,y,2)=(x+2y—-zytz,x+y-22).
c. | The inner product of the polynomials f{t) =t+ 2, g(t) =3t—2inp(t)is |6 |L2 | CO3
1
given by <f, g>= [f()g(t)dt. Find i) <fg> i) [f] iii) [g]
g 0
Module - 4
Q.7 |a.|Find an approximatc root of the equation cosx = 3x — | correct to four | 7 | L2 | CO4
decimal places using Regula Falsi method between 0. 5 and 0.7.
{ v ( "9!
b. | The area ‘A’ of a circle of’ dlamctcr ‘d’ is given by.the following table 7 |L2 | CO4
d: | 80 | 85 [ 90 4, 95" | 100 -
Avl 5026 | 5674 | 6362 | 7088 | 7854 :
Using appropriate Newton's interpolation formula for equtspaced values of
x, find arca of the circle corresponding to the diameter 105,
A % | . ' o 6 |L3 | CO4
¢. | Evaluate I=_|'4 T dx by Simpson’s 1/3" rule by considering 10 sub
X
: 0 "
intervals. Hence find an approximate value of logs.
OR
Q.8 | a. | Find the real root of X log,, x =1.2{ correct to four decimals that lics near | 7 | L2 | CO4
2.5 using Newton Raphson method. «, ~
b. | Fit a polynomial for the following data using Newton’s divided difference | 7 | L2 | CO4
formula:
x4 [-1)]0)2] 5
y: [ 1245 ]33 5|9 1335
: £ e 6 | L3 | CO4
¢. | Use trapezoidal rule to find Ie" dx by taking seven ordinates.

20f3
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¥ Sl BMATS201
- ~ Module - § B
Q.9 | a. | Employ Taylor's series method to obtain n|\|nnximlllc wolutionnt x = 0.1 [ 7 [ 1.2 CO4
and x = 0.2 for the initial value problem TIX =2y +3e', y(0) = 0.
dx
b. | Apply Runge-Kutta method of fourth order to find an approximate solution | 7 | L2 | CO4
'u\"Olbl\cn-(;—)—lx+y!2.}'(0)=l. e
¢ | Apply Milne’s predictor — corrector method to solve the cquation |6 | L2 | CO4
(v + Ddy = xX*dx = 0 at x = 1_given y(0) = 1, y(0.25) = 1.0026,
v(0.5) = 1.0206, ¥(0.75) = 1.0679.
OR
Q.10 | a. | Apply modnﬁcd Fulcr s mcthod to find solution at x = 0 1'by taking h=0.1 [ 7 | L2 | CO4
given y’ =x+ y‘ y(0)= =0,
dy yi-x7 . |7 |L2 | CO4
b. | Find an approximate solution of —==<——,y(0)=1 at x = 0.2 using
' dx  y +x7
Runge-Kutta method of order four.
73 V. 9 ; G Co5
€. | Write the,mathematical tool codmto"%olvc Y =x’+y ‘-ygl)) = 10 using o
- L 4 dx ”1}*'
Taylor’s series method at x = 0,1(0.1)0.3. Consider th%enm upto fourth
degree. Ve -~ xQ.-_-
L
- \M *:
1,
A v \ --,
SN
=y
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Applied Physics for CSE Stream

Max. Marks:

Note: 1. Answer any FIVE full questions, dmosmg ONE full question from each module.

2. M : Marks , L: Bloom’s level , C: C'oum- rmfmmcv P
3. VTU Hand book is permitted. % h Y

BPHYS102/202

E xumili;lllun, June/July 2024

100

Module — 1 MIL| C
Q.1 |a. ] Explain the construction and working of semiconductor LASER wnh ancat| 9 | L2 | CO1
| sketch and energy level diagram. e =
b. | Discuss different types ofopuca[ fibers based on modes of propa;,ailon and | 6 [ L2 | COl
RI profile.
¢. | An optical fiber has refractive mdcx of core and cladding uf 1.55and 1.50,|5 | L3 | CO5
rcspccmciy Calculate 1ts numerical aperture and angIe of acceptance if it is
kept in air. Yo J Qe
Q.2 | a. | Obtain the cxpmssmn for energy dumty of radlallun in term of Einstein’s | 8 | L2 | COl
A and B coefficients. >
b. | Define mumerical aperture and derwe an exprewon for numerical aperture | 7 | L2 | CO1
of an nphcal fiber. i
c. | In‘axdiffraction grating expenrgl%nt,’ﬂle Laser light undérgo::s first order | 5 | L3 | COS
diffraction at an angle of 193 Fmd the wavelength” of Laser light.
X
Given the grating constan A—’l 98 x 10**m. ;’W% s
Module - 2 .
Q3 |a. l Setup one dimensional time independent Schiodinger wave equation. 8|L2]| CO
b. | State Heisenberg's uncertainty principle and apply the samc: }D prove the | 7 [ L2 | CO
non-existence of free electron inside the nucleus.
¢. | An electron is bound in an infinite potential well of width 0 18nm Findits | 5 | L3 | CO2
energy \alues in the first two dllowet.( 'energy states. ¢
X, .e‘ P ¥ /OR ) ___'\“",'-;__-
Q.4 [a. | Obtain an expression for-Eigen function and Flgcn energy values fora| 9 | L2 | CO2
particle in an infinite poicntial well ofwldlh a’.
b, +What is wave function? Mention the propertlcs of wave function and give | 6 | L2 | CO2
...")its significance. '
c.r| Calculate the kmcuc energy of a ncutron in e¢V. Given: de —Broglic wave [ § | L3 | CO2
length is lAand mass of‘ncu(ron m.. =1.674 x 107'Kg.
N Modulc 3
Q.5 | a. [ Distinguish between classical computing and Quantum computing, 6 | L2 ]| CO2
b. | Explain the CNOT gate and its operation on four different input states. 6 | L2 | CO2
¢. | Apply Pauli matrices on'the state [0> and |1>. 8 |L3|CO2
N OR
Q.6 | a. [ Explain the working of T-gate mentioning its matrix representation and | 7 | L2 | CO2
truth table. "4
b. | Explain Onhogunaluy and Qrthonormality with an example of each. 8 |L2 ]| CO2

A lof2
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BPHYS102/202

"J

¢. [ On a particular place, volcanic e lﬁ:liou occurs once in cvcry‘IOUycars on
an average. Calculate the pmbab fy,of volcanic cruption in a 100 years
interval for K =0, | and 2, ﬂssummg ‘the Poisson’s modc] appropriate,

A lincar operator *X* operates such (! that X[0> = [0> and | XH" - II|> Find | 5 [ 13| CO2
‘thc matrix representation of * X', '
h,/
| R — Module -4 ( 1 k
Q.7 |Mcnlmn the failures of classical free clectron -flicory and explain the | 7 | 1.2 | CO3
| assumptions of Quantum fice clectron theory of metals.
b. | Explain Meissner's effect and  the \nrmuon of critical ficld with | 8 | L2 | CO3
lemperature. ‘v
c. | A lead wire has a critical ficld of 6.5 X'IU A/m at 0 Kelvin. The Gflfl(.zll 5|1L3|CO3
temperature is 7.18K. At what lcmpcraturc the critical field will- drorl to
4.5 x 10’'A/m. \c »
|
- (““hoR W ‘_::‘v
Q.8 |a.|Define Fermi factor and, explam the variation of Fermi factor with | 8 [ L2 | CO3
| temperature and energy. . |74 s o -
Differentiate Type — I afd,Type — Il superconductors:, 8 | L2 ]| CO3
c. | Calculate the probability of occupation of an energy’level 0.02¢V above | 4 L3 | CO3
level at tem perature 27°C. N
. " Module —5 -
Q.9 | a. [ Explain the. |mpnrtance of (i) size and qcale and (ii) weight and strength, in [ 7 | L2 | CO4
animation.
b. | Mention the general pattern o{'Montc ‘Carlo method and hcncc cxplainthe | 8 | L2 | CO4
procedure to find the value of ‘n’c ™ o
c. | In thé-case of animating a Jump, the jump height.is"2. Sm and jump | 5 [ L3 | COS
magnification is 5. Calculate the push height and push acceleration. Given
gravitational acccleration is 10m/s. .. K.
¥ D ﬁeng-\"y
oo OR ~ A« ,
Q.10 | a. | Describe jumping and’parts of jump. /% 7 Y- 9 | L2 [ CO4
b. | Distinguish between descriptive and inferential statics. & 6 | L2 | CO4
5 | L3 | CO5
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Q.1 |a. Define Computer. Explain the variou§ types of computer. 10| L2 | COI

cRGSOOMENE
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First/Second Semester BLLE/B. Tech. Degree Examihstion, Junc/July 2024

Principles of Programml'q'g' using C
Time: 3 hrs, ) Max. Marks: 100
Note: 1. Answer any FIVE full questions, rhrm.thfzv'UNE Sull question fmm each module.
2. M : Marks , L: Bloom's level , C: Canrse oulcomes. N
M[L] C

e ————————— —

“Module= |

b. | Explain the basic structures of C program in detail. Write a sample program 10| L2 | CO2
to demonstrate the components in the structure of C program.- ]

f\ OR -

Q.2 | a. | Explain scanfl ) and printf{.) functions in C Iallg};_,’:gc with syntax and 08[ 1.2 | CO2

cxample. : . :
b. | What is variable? ‘Explain rules for constructing variable in C. Give | 06 | L2 | CO2
example for valid and invalid variable. L)

c. | lustrate the flowchart and write a C program which takes as input p, t, v [ 06 | L2 | CO2
compute the simple interest and display result.

‘ Module -2

Q3 |a Explain.lhc.followingopcmlors in‘C': LY 08 | L2 | CO2

b LA . AN
i) Relational ii) Logical __iify)Conditional __iv) Bitwise.

b. | Explain for loop statement with syntax and example-program. .. |06]|L2|CO2

c. | Write a C program to simulate simple calculatorithat performs arithmetic | 06 | L2 | CO3

operations using switch statement. Error message.should be displayed if \
any attemplt is made to divide by zcro. :
-, OR (i~ {9
Q.4 | a. | Explain if, if-clsc, nested if and cascaded if-clsc statements with’syntax and | 08 W L2 | CO2
example. N’ o T A Ny
b. | Write a C program that takes three coefficient (a, b, ) jo calculate roots of | 06 | L2 | COS
quadratic equation, print all possible roots with appropriate messages for a
set of coefficients. A7 ~y ¥
c. | Explain break and continue statements with respect while, do-while and for [ 06 | L2 | CO2
loops. A <
“ Yy Module -3
Q.5 | a. | Define function. Explain categories of user defined functions. 10| L2 | CO4
b. | Define two-dimension array. Write a,C‘program to multiply 2 matrix by | 10 | L2 | CO3
ensuring their multiplication compatibility.
. ' “OR
Q.6 |a. | Explain function call, function definition and function prototype with | 10 | L2 | CO4
| syntax and example for each.
b. | Writc a C program to implement Binary scarch for integers. 05| L2 | CO3
c. What IS Rc-._:ursion? Write-a C program to compute factorial of number | 05 | 1.2 | CO3
using recursion.
i Module -4 '
Q.7 |a ninulating

b. Define string. Explain any four string manipulating functions \filh c.:xT.ﬁlTplc. 10| L2 | CO3

Write a C program 1o concatenate two strings without using built-in [ 05 | L2 | CO3
function streut( ).

c. | Explain string unformatted input/output functions w-i-l-l-l.cxumplc. 5

—los \L2 [ co3

) e

CENTRAL \

”

£ lof2




BPOPS103/203

..,

OR N

Q38

08| L2 | CO3

Define pointer. Explain pointer variable declaration and lnllldllzutlon with
suitable example. P

b.

04| L2 |CO3

Explain pass by value and pass by address with exa&r:ple.a
r %

L

08| L2 | CO3

Write a C program using pointers to compﬁ'te sum, mean, standard
deviation of all elements stored in an array of n rcal numbers. .
{y _-":;?
&

Module—-S‘ ’ o\

Q.9

10| L2 | CO3

Explain structure declaration and how’structure member are acce::fcd with
cxample. o Wik

A

10| L3 | CO5

Implement a structure to read, writeland compute average fnarks and the

students scoring above and below average of class N studcnts°
” *': ! 4

7L _OR A

Q.10

Compare between structﬁ’é and union with syntax an 1( -'::S'(amplc 06 | L2 | CO3 o
2 S

Explain fopen( )}fglose() fscanf{ ) and fpnntf( )3 wnth syntax and example | 10 | L2 | CO4

program consti:lfrmg ‘all above functions. ﬁ.\_} ¥

What are enumeration variable? How arethey declared? 04 | L2 | CO3

oy, a
- Q‘ o

Al L™ NET
= S A

N kR ok kR Fi ¥
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Second Semester B.E/B. Tech, Degree Exa mitation, Junc/July 2024
Introduction to Mechanical Engineering

Time: 3 hrs. Max. Marks: 100
Note: 1. Answer any FIVE full questions, choasing ONE full question from each module.
2. M : Marky , L: Bloom's level , C: Cpurseoutcomes. P

| - ~ Module -1 . MlL][ C
Q.1 ] a. | With a ncat sketch explain the working, principle of Nuclear Power.Plant. | 10 | 1.2 | COl
f b. | Writc a short note on the following: i) Global Warming ii) Ozonc Deplction | 10 L2 | COIl
W OR
Q.2 |a. Elucidate the emerging trends‘and technologics in the following sectors: 08| L2 | CO1
i) Manufacturing sector *. < ii) Encrgy sector = ]
b. | With a neat sketch cxplain the working principle of Hydro Power Plant. 08 | L2 | COI
c. | What is the role of mechanical engineering in Industrics and Society? 04| L1 | COl
2 Module -2
Q.3 [a. [ What is CNC? Explain the basic components-of CNC machine with a ncat 10| L1 | CO2
sketch. b B ¥ o~ L2
b. | List diffcrent, operations that can be performed on Lathe Machine and | 10 | L1 | CO2
explain the following with a neat sketch: i) Turning i) Knurling L2
e\ OR” L
Q.4 | a. | List the operations that are performed on Drilling mag{;lé'é‘and explain the | 10 | L1 | CO2
below: i) Boring _ii)’ Drilling NS - L2
| List the advantages and applications of CNC. N,V 4% |06|L1|CO2
| c. | Write a short note on 3D printing. P g 04 | L2 | CO2
Module —3. ;
Q.5 | a. | With a ncat sketch cxplain the working principle of 4 stroke petrol engine | 10 | L2 cOo3
along with P.V. diagram. fo * sy
| 'b. | Explain the components of Electric and Hybrid vehicle with a neat sketch. | 10 | L2 | CO3
- ! OR~’ o
Q.6 |a | Witha neat sketch explain the Working principle of '4 stroke CI engine | 10 | L2 CcO3
along with P.V diagram. ol e
b. | Discuss the concept of Electric and Hybrid~ vehicles. Also list the (10| L2 [ CO3
advantages and disadvantages of EVs and Hybrid vehicles.
: . ¢ Module—-4."
Q.7 | a. | Classify engineering materials. 04 | L2 | CO4
I Differentiate between Soldering, Brazing and Welding. 10| L2 | CO4
¢. | Write a short note on Diamond and Silica materials. 06 | L2 | CO4
X OR
Q.8 | a. [ Explain the working principle of Electric Arc Welding with a neat sketch. [ 10 | L2 | CO4
. | Explain different types of Elames used in Gas welding. 06| L2 | CO4
¢. | Write a short note on Shape.Memory Alloys. 04| L2 | CO4
Module - §
Q.9 [a. | Define Automation. Explain the types of automation. 10 | L1 | COS
) L2
b. | With an example explain open and closed loop mechatronic system. 10| L2 | COS
: OR
Q.10 [ a. | Define loT and explain the characteristics of loT, 10| L1 | COS
g | e L2
b. | Explain the functional blocks of IoT with a neat sketch. q_‘._\l\“" CeRy N [ 10] L2 | COS5
'-F_ LN N [») - V_%
N 7 W
e 7 S mm‘. -

J
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Sccond bcmt‘slcr B.E./B.Tech. Degree E mmlnntlon. June/July 2024

Time: 3 hrs.

GBESISCHENE

Introduction to Internet qf,__'l'hlngs (107T)

F Y

Note: 1. Answer any FIVE full questions, dwml'ng 'ONE full question from each module.

2. M : Marks , L: Bloom's level , C: Cmme oiltcomes, £y

Max. Marks: 100

m:"rcrczoswm:'rcmuos

Mndule—-l MjL]| C |
Q.1 Classify the network types based on: physical topologics and conncction | 10 | L2 | COI l
| types with schematic diagram. %, ,,‘j
- I/ oy
b. | With a neat diagram, cxphm thc interdependency technology for 10T | 10| L2 | COIl
|pl:mcs & o 4
J S 4 :
&% OR —~
Q.2 [a. [ With neat diagram, explain the network communication between two hosts | 10 | L2 | CO1
following OSI model % ¢
b. | Explain thé mll.rdcpcndcncics and reach-of loT over various application | 10 | L2 | COl
damnmsandnctworkmgparad:gms ¢ ’
A\ " Mndule 2 .
Q.3 | a. | Outline the basic differences bef\g;en transducers, scnsors *and actuators. 6 | L2 | CO2
P £920%,
b. | Explain the major factors influence the choice. of.sensors in IoT bas’ad 8 | L2 |CO2
Iscnsmgapphcanons
c. | Define Sensor and explain the characteristics of sensor. A 6 | L1 | CO1
| S a &%
S OR=.. e 7
Q.4 | a. | Classify the sensor based on : i) "‘;Ebyér requirements ji) Sensor output | 10 | L2 cO2
iii) Powcr to be measured. ¢ g
dy < l '\‘; f‘ %
b. Clas%‘:fy Sensmg types on, lhc hature of the enviropment and the physical | 10 | L2 | CO2
sensors. s 7
~ 2 by 2
B Y M & Module — 3%~
Q.5 | a.| ExplainloT dcvxce dcsu,n and selecnon considerations. 10| L2 | CO2
b. | What arc the. paramclcrb cuns:dcrcd for off loading the data and identify | 10 | L2 | CO2
typical data ufl‘load locations a\fallﬁblc in context of IoT.
. OR
Q6 |a [ Explain event detection’ usm!, onsite , offsite remote processing topology | 10 | L2 | CO2
and collaborative processing technology.
b. | Classify the data’ bascd on how they can be accessed and stored and the | 10 | L2 | CO2
| imponance ofprcu.chmg, 3 of loT.

-I of2




BETCK205H/BETCKH205

Module - 4 a
Q.7 . | Explain the classification of virtualization bascd on the rt.qulremcmq ofthe | 6 | L2 | CO2
luscr RS
Y
b. \ Explain diffcrent types of cloud model. e 10| L2 | CO1
<\
c. ]What is SLA and mention its metrics. Y 4 |L2|CO2
OR &
Q.8 [a. [ What are the advantages of virtualization?.y Y 10| L2 | COl
b. I Explain different types of cloud simulators with its features. < 10 L2 | COI
o, F . B
~s, “Module - T ¥
Q.9 | a. | Explain the different components of health care IoT. ~ 10| L2 | CO1
& ‘l. L5
b. | Explain the archucclure and advantages of vehiculat lpT 10| L2 | CO2
*"' \.
i1y OR ¢
Q.10 | a. | What is Machme Learning? What are the dd\r'dnlages and challenges of | 10 | L2 | CO2
Machine Lcarmng" s 4
A N Ny
b. | What are _the'advamages and risk O)Q;ealth care 1oT? 10 | L2 | CO2
i ; 4, i e.‘{":.‘?s-'
O e,
= Xy
N S 4
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‘sccuml Semester BLE/B.Tech, Degree Examl I?on, June/July 2024
Introduction to Cyborfﬁpcurlty

Time: 3 has, “‘j’\ Max. Mﬂfks: 100
Note: 1. Answer any FIVE full questions, choosin, ONE full question from each module.
2. M : Marks, L: Bloom’s level , C: C‘cfﬂ'ne ufcomes. ;?
[ D L 4 B
Module =1’ awr M| L | C
a. | What is Cyber Crime? Explain C)}QchSpch and cyber -:quallm[, P 6| L2|COl
4Y
b. | Who are cyber cmnmnlq’l)isc“& thie three group of cyber crirglnah 8§ | L2 |COI
(“
c. | What is cyber defamation? hxkﬂam in detail, ’ 6 |L2 |COl
¢\ A
e OR MM&"n
a. ’Lnt and cxplain cla;s'lf'canon ofcybcrcnmcs , ¥ 10| L2 | CO1
T
b. | Explain the hackmg and the Indian lawy m{der Indian ITA 2000 cyber [ 10 | L2 | COI
crimes. & :f"
»".;.ﬁ’
o Mnﬂule-—z -
a. Llshand explain different catego  0f cyber crime. 6 | L2 | CO2
b. Bncﬂy explain any six sdor effective Mn@ ‘Google” sﬁh 6 |L2 | CO2
englﬂe 5 Alhr
¢. | Explain social cnglnccrlng wnhns clasmi'cah?n . 8§ | L2 ]|CO2
i (s, o
J.- :, OR 8 ‘\- !‘/
a. Bneﬂyexplamphases involved in Flaﬁ‘nmga cyber crime. ‘\“{‘; 10 L3 | CO2
14
b. | How Bomcts create busmess”'E;(plam how to secur¢, lhu system by using | 10 | L3 | CO2
botnets. o A A h:"
ook ‘-.ﬂ ¥
' .5 Module-3 , ¢
5 F-What is phishing? Explainhow it works. 6 | L2 | CO3
a':.. N p g "{f Elr )i*a;,
b. | What are the purw‘::t.}s of proxy scrverb? hd 6 |L2 |CO3
s ¥ I
¢. | Explain dlﬂﬂl’b{l ways nfpasswo bracklng 8§ (L2 |CO3
%
v , __OR
a. | What are viruses and won(itg Explain different types of viruses. 10| L2 | CO3
W
b. | Discuss diferent types of DOS attacks. 6 |L2 |CO3
7
c. | What is Steganography? Mention some tools. 4 |12 ]CO3
Y
1of2
r
Y
Ay
/ r
o
Yy
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" Module-4 5T
Q.7 | a. | Discuss about phishing techniques used by phishers to ladpch phishing | 10 | L2 | CO4
attacks. (V¥
e S i N . S
b. | Briefly explain various types ofidcnlitylhcﬂtcc@i\qt::}.' 10| L2 | CO4
- OR ™,
Q.8 |a. | Explain various typcs of phishing scams. 4, "o ~ 10| L2 | CO4
b. | Bricfly explain four different methods of phishing. e:"' 10 (L2 | CO4
L Ny
R
Module - 5 ~
Q.9 | a. | Tllustrate digital Forensics life ¢ycle” Y 10| L3 | CO5
m"{;:f} {r\\”
b. | Discuss about the steps ijrg\-'o]lvéd in solving a computer forensics case. 10| L3 | COS5
£\ %)
C, ° OR i
Q.10 | a. | Explain chain of custody concept. 5 10| L2 | CO5
&R
b. | Briefly explaifi netWork forensics. o, 5 (L2 | COs
« & ¥ PR
c¢. | Explain what'is RFC2822, Y 5 |L2 | COs
r{‘. B N i
. S 5 ./ < P
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Directions : Change the voice of the following sentences 3.

18. You nced to clean your shoes properly. . ,_%...
1)  Your shoes ar¢ needed to clean properly. A
b)  You are needed to clean your shoes properly 2,

¢) Your shoes need to be cleaned properly ;zf..

d)  Your shoes are needed by you to clean v&__..m_zw.

£y
. _.u-.
19. James want discovered the encrgy of steam. N 5@(
a) The energy of steam discovered James, watt g
b) The energy of steam was .__.m»dfwﬂacu James watt. A~
¢) James watt discovering the energy of stcam . .H.vq

d) James wart had been n_voﬁnn& energy by the steam
r

Directions : Convert the _.n-e.._..u sentences from —x:ﬁ to Indirect speech :

1 )

20. “amsomy”, hesaid o ¢

aaaaa

1) He apologized that wo Was sorTy b) L._n q:& that he was 1o be sorry
€) He demanded __..H he was somry .mw Al of these
E_.!E!.u Ue s- directed : ¢

|

A senience E_ introduces the topic of the main idea to a..n 8&%3 is called.

a) Topic sentence b) First wnﬂﬂ.!n
¢) Both*a' and b’

S d) Noj cq these Iy
ol R i
21. A paragraph which is written 52 analyzing 4 siluayon is called, 7
a) Descriptive paragraph , b) ?F..:_.:na_ paragraph
c) Nustrative ?:.smﬂur & “marrative uﬂmmie_._
23. The important parsgf an essay are : ,..r“li ......
2) Introduction - “w b) Body .. ¢
¢) Conclusion’ B & Allofthese
!‘Prf A oy Y
24 isa gist of any uuﬂnnn WTitlen in as few’ Soaummvo&&_w
a) muruwfu_ﬂm b) / ﬂnnn.w writing

) #m!ﬁ.nu.fs_sm - ,\.

25. Which among the qo_ua)aw is not a feature of reports?

3) Focuses on facts and data < b) lswritten for a specific purpose
c) Inchudes .3.._.3..-! information

-~ " d) lsstructured in an organized way

& “None of these

26. Repors sra_. are submitted at regular intervals is called,
1] w...snu-nqa—.o: B & b) Perodic report
¢) Both‘a"and ‘b’ d) Nooe of these

27. A techncal repon establishes a,
3) wopxal conclusion

b) logical conclusion
€) personal prejuttce

d) musplaced leaming
-5 VerA-dol 2
N

e

28.

29.

30.

3.

3

3.

M.

35.

36.

3%

38.

39.

~. BPWSKI106/206/22BD26

is drafted in response 1o an advertisement or _.__n_sn?_.

a) Solicted proposal b) Unsoliczed propusal
c) Both *a’ and ‘b’

d) None of these
Childhood is a time when there are AE.,&.E:“ to make life difficult. Ifa
child____ good parents, he is fed, _85_ ~ and loved,
a) many, had, up b). few, has_ after o
o) little, have. at rq— ill of these aY

>
Listening is a vital skill which helps in na__l._..n__._m our learning. p
a) True &Y ‘.. b) Falbse Q
o s ...z
Which among the following are bartjers o listening? sox
a) Forged attention : 4 b) Poor interpersonal relations
c) Premature evaluation 4.1.a... d) All omrr:
By,

Which among the ?.—ni_uﬁw_ﬁ:r» not be Eﬁtiﬂ:ﬂn for effective listening?
a) Having an open mind- b) Not being prejudiced

c) Employing n_.a_nﬂ.ﬂsrﬁm nrfbwwsm irrelevant questions
A business sna st be, »

a) written in proper format +2 b) shortand B_..n_uu

c) _E_.Su.mr.o:n « v d) Al a:.vnun

o

The date on a business letter should appear after the nuEBu..

a) True .w b) mnﬁnu .;..v

This format of the letter _E The beading, &nwfa.é_ﬁﬁi b e wnd sigatie
right aligned. i -
a) Block formar % by Soriaal mﬁ.ﬁ fc
©) Modified block focmat f& None of these™
Which among the following is not E&aﬂ Thentioned in a a:ax"._
a) ngeﬂ_ qcu____no_ ion ., V¥ b) Famm experience
c) m:gm;ﬁa C " d) Fﬂw..nwra
The format of resume lists your work Euaa_ with dates, with your most recent
emplayer and job tle _..ﬂo.n first. P, 3
a) Historical P ,b) Functional
¢) Chronological u...u__ = d) All of these

~, " o
BCC inan email pefers to : e’
a) Diritish council careers b) Blind carbon copy
¢) Booked carbon copy z..w. d) None of these

N

The cover ketter is written,

a) To introduce oneself as the suitable candidate for the job.
b) To give biographical ‘details of the candidate.

) Toury m.::.n._ar...

d) To ket the n:.ﬂ_.wu.n.. know of our writing skills

VerA-dol$
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Journcy mapping is also called ____ mapping Ny
a) Path b) Experience ¢) Conduct =~ d) Feedback

Which of the following are pot tools of design thinking?

a) Co creation b) Proto typing ¢) Mind mapping
i)

Which design thinking phase is closely related o the creation of an minimum viable

produc (MVP)? )

2) Empathize

d) Online mapping

b) Prototype #.c) ldeate d) Test

Which one 1s the minimum viable baq.._ﬂu_
1) 5 b)

, ——
ciBothaand b Ty d) None of these
How can the theory and practice of design thinking work together?
2) Theory provides a.set of rules o follow, while practice ensures the rules are applied
effectively. %l K ..H.
b} Theory and practice are two separate processes that do not overlap.
¢) Theory peovides a framework for creative problem solving, while practice develops
the skills and knowledge to apply the framework effectively.
d) Theory and practice are interchangeable and can be used in any order.

.
What is caperience design in the context of design thinking? ...
a) The process of designing physical products and services. PR
b) The process of designing digital interfaces sod imteractions. S
©) The process of designig holistic experienices for users across all touch points.
d) None of these ., Ty ? -

9 ) N
What is standardization in the 3_.__@_.&..&.3?5 thinking? o
a) The process of creating standardized design solutions. ,
b) The proeess of following a standard sct of design principles.
<) The process of establishing standards for design processes and methodologies.
d) None of these . U Sy

&

 What is humanization in the context of design thinking?

2) The process of marking designs more human centered and empathetic.

“b) The process of making designs more fechnically advanced.

¢) The process of msking designs more acsthetically pleasing.
d) None of these.

How can a creative culture be fastened in the design thinking process?
a) By encouraging nisk-takipg and experunentation

b) By establishing rigid design processes and guide lines

¢) By prioritizing cost cffectiveness over innovalion

d) None of these

Version—C =3 of 6
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27.

29.

30.
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33.
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What are some common tools and techniques used i rapid prototyping?
a) Sketching, wire framing and paper prototyping

b) 3D printing. laser cutting and CNC machining s

¢) User research, market analysis and competiive analysis

d) None of these B B

How can a business model be designed using design thinking?
a) By identifying customer needs and pain points and designing solutons that address
them. 3 N
h) By following a sct of established business practices and industry standards.
¢) By prioritizing cost cffective over customer value. .
) None of these < ¢ iy,
Which phase is referred to um an experimental phase where continuous ferations can take
place? (Y g,
a) Define b) Empathise c) Jﬂeqﬂn d) None of these
What is the term gsed to describe the process of narrowing down thoughts to reach the
final solution? | *,)* >
a) Convergent thinking
) None of these

-

.“_. B Divergent thinking
~ dyBothaand b

Design ....:m._._rw._m is typically used to !ua,&n a solution based approach w problem solving
a) Trug™s Y b) False s,
=
Can design thinking be applied in professions outside of design? 4
a) True % b) False N

How can real time interaction and Eqmw,b.?ﬁnﬁuﬂn into the design process?
a) By conducting uger rescarch and testing atthe end of the design process only.
b) By eliminatipg user feedback and relying solely on persumal preferences.

¢) By analyzing warket trends and saks data only.

d) By incorporating user feedback throughout the entwe design process.

What are some common tools used in the empathy phasc of design thinking?
a) Persona development and user imerviews ¥
b} Brain storming and ideation sessions 0
¢} Sketching and prototyping B
“+d) User testing and feedback analysis.

What is the role of ¢émpathy in desiga thinking in 1%

a) To undetstand the nceds and chalienges of IT users and stake hoklers.
b) To create yisually appealing IT products and services.

¢) To ensure comphance with industry standards and regulations.

d) To increase profits for the [T organization.

What is the importancg of prototyping in design thinking in IT?
) To test and refiné 1T products and services before lurh.

b) To shuw case 1T capabilitics t stake hobders.

¢) To inpress user with cutting edge technology.

d) To ensuge compliance with industry standands and regulations.
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11 Boy

B =i b)=ii
13 Son

a)=i b)=ii
24 Sweet

a) = by = ii

Translate the following Kannada words into English,

25 Magalu
a) Son b) Mother

16 Kappu BaNNa
) Rlack color b) Red color
17  Obba Vidyanhi .
1) Une Teacher

Translate the following English words Into Kannada.

18 Dook

) Buk b) Pustaka c) Byog |
19 Her House . A

a) IvaLa Manc b) Avala Manc
30 BigTree ~ ¥

8) Chikka Mara b) doDDa Mara

b) Une Servant

c)=iii
c)=iv

e) i

©) Duughter

©) White color

#

c) One Brother

€) Avana Manc

¢) Agal.a Mara

BKBKK1077207

d) =iy
di=v

dyox

) Bister
) Cireen color

) Une Stadent

d) Pencil
d) Adara Mane

d) SaNNa Mara

Write the Kannada ___em.-_u.n-sd. for the following English words.

31 Whe

a) Enu . b) Eke
32 Ths e

a) Idu b) Adu
33 She

a) avanu b) !_ir_
LTI 1Y

a) avanage b) avalu

35 When
8 Yaaru b) Hege

c) Yoaru

€) Avu

C)avaru

c) avana

¢) Esw

Ver-D-3uf4

d) Ell

d) Ivu

d) Ivaru

d) Nanuge

d) Yevaga

36

n

8

»

40

41

42

45

46

47

49

50

BKBKK107/207

Write appropriate words for the following :

Where ,

a) ELLi b) Yaake ¢) Yaary | d) Estu
Teacher n, &

) Gelathi b) Shikshaka , ©) Vidysni d) Huduga
Girl ‘ A

a) Huduga b) Mitra - ¢) Hudugi d) Snchita
Hitter f _

a) Sihi b) Uppu ™ ¢) Kahi 1. d)Khana
Library oy

a) Shale b) Vidyakaya ¢) AngaDi d) Granihalsya
Write the English Word for the following :

T .. | -,
) Hotel b) House " ¢)Shop d) Street
Mara O )
a) Tree b)Leal ¢)Flower = d)Fruit
Moga ot .
a) Father b) Mother ¢) Uncle d) Sen
a) Younger Brother  b) Elder Brother £) Mother d) Elder Sister
HaNNu R \
a) Fruit . % Db)Flower v, ° ¢)Seed ~.* d)Plant
Translate the following English sentence _n-@. K da sentence.
Who arc you? ¢ g
1) Naanu Yaaru b)ayalu Yasru .e)niinu Yaaru d) adu Yaary
What is your name? 1,
a) Niana Hesaru Enu? b) Nanna Hesaru Enu
¢) ldam Hesaru Enp? ' ] d) Avala Hesaru Enu

. »
Where is your House? Y
8) Avana Mang Elli lde? b) Ninna Mune Elli ke?
<) AvaLa Mane Elli lde? d) Adara Mane Elli kde?
Who is he? o
a) Adu Yaaru? b) Avanu Yaaru? ¢) Idu Yasru? d) Wu EIN?
Where i8 your youuger sister?
2) Ninna Temuma ELb lddale? b) Ninna Akka Elli lddalke?
¢) Ninna Tangi Eili Iddale? d) Ninna Anna Elli lddale?
LE L RN}
Ver-D-4of4
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17.

BKSKK107/207
Beahodd etnad &g Satabi) eacdng 28dsoth mAgAVEw!
a) RO0d b) &g sodad, ¢) vt d) orIdy,

18 cnd amend 13sde Yeasd ISR
) rtsod b degds )i d) eJdnRb.
19 200 cRdao e ALY PoTW? ,
D b) riad - O3S N ded
0. 2333t alngdad e AITorbYeh?
2) figocs b) eves 020, ) Peasr.
f
2L oedavd megy dmeridedoch B s
2) Uedinriiess . b) womeries
o) Cadaarizies _ d) Snmcda.
2 sorosg esosy and?
) zo3 b) oty ouidy d) Bo3:.
5. mric2 &33 £48d —— Sowd drwnd? -
2) B3¢ by o U908 AT dudd.
2 20000 DeRd SuRNY Bobdamdh dlngd?
NESEN 3 % S by adoy
c) e d d) YBodd Ao,
I m2rba ot mavh hde desrd dedrRizeod dnd?
2) SPEOTTD S b) BRETID
€) bxhah - d) by BB,
% et e setraod BER SRAEW?
- b) b
€ FUTeG d)rin.

Ver-A Jofé
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28,

29.

30,

il

32,

33

34

5.

36.

~ BKSKK107/207

834 wadab Odaba OdV o oo Sdddd: airdy?
2) ¥daedd maaky b) BOD ISz
¢) ddsen 1t s Loz,
ekt DAVISI alrch? ..
2) AndD ~ by bVl
c) ehearmasd d) alnd ey
2eduada Aed 837G 39 alrech? _
addod b) 2eod, ¢) b3bEE 4832
3030 Y3 vadIS 1eds, coch ZASI airedh?
2) 3BV 28ed ) _b) ddod
98.d28 4 ) wwden Baod baadeh

e Q ’
& aad 08, BRruE aoth Teabadn a2Rdd e ———.
2) 1973 b) 1964, c) 1955 d) 1947.
R 00. 97,3 SolyAIch SUBDS Tedd BIID B33 ArPID?
a)ad be v L by3dledn
<) 3d duledn ...,_,. A e ol
B9 UE BeFOD UI0E 1 GiRI?
“ : b

ag3d DR o) Jord d) bod
uawqc& uvu.ﬂub&:&auv ...r,.;

“hdged L ' b) orivadh
mdmg - ) d) Yvmd.

A N
Ko Sbav Bech BRCTRAatrRACYED - 19T
a) uaad by .w.a..u.-u ¢) S d)y sy
e, eOS Fugn B g derd Swe Fannd
a) morfeoc? b) @d c)Rcs d) mhelm.
Ver- A dofb
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